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0-1-1-0- 1

1*(2+1/1 *100 500

1-0-0-1-0-1
1*(1+1/2+1+1/1+1)*10-)

v HERPEERER=-1
K=1( RE—MEREZNEE,L) |, B= ( 1+ EEERATERIENFSIRUIRGIRERE ) |, BfR=-K*&=1*
(1+ (iarr+1) /Inkcout) *100

a. 1-0-0-0, WEm=1* (1+ (0+1) /4) *100=125 ;
b. 0-1-0-0, WEE=1* (1+ (1+1) /4) *100=150 ;
c. 0-0-0-1, WEmA=1* (1+ (3+1) /4 ) *100=200 ;

SiE | SR UE—MEREE | FEES SIS ERIORIE ST | NEEREA ;
v HERRSEERE> 1

K=#RPIEE S ERREA M (larrmax) |, B=1EEHNEESERREH L+ 1/ (EEATERIERDE) , @R
={*EE=iarrmax*(1+1/N+..)*100

a. 1-0-0-0-1, WEmR=1* (1+1/3+1) *100=233 ;
b. 1-0-0-1-0, WEER=1* (1+1/2+1) *100=250 ;
c. 1-1-0-0-1, WE@A=2* (1+1/2+1) *100=500 ;
d. 1-1-0-1-0, WEEfR=2* (1+1/1+1) *100=600 ;
e. 1-1-1-0-1-0-0-1-1, #EEF=3* (1+1/1+1+1/2+1) *100=1350 ;

v SIS

1 %EE%EP EUETEﬂ%%‘B/xﬁ  BEREEREESE (BATHRIBTSEREE ) |, NEERL0;
2, T, EReE WEEF'*IO

a. 0-0-0-1- 1 NEmEA= (2*1*100 ) *10=2000 ;
b, 1-1-1-1-1, 1‘2%@* 5*1*100 ) *10=5000 ;
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